[A{ET]

47—1 KB

o= £ F

(80D

T Gt 4 i H s =1 = H = BAfT =
(+T)
e + b (4.098 X 3.483 -+ 2.655 X 2.040) 2 X 2.405 23. 677 m3
23.677 — 2.530 — (0.196 X 2 + 0.342) X 0.300
pEEg=S) AL — 1.215 — 0.155 — 3.103 X 0.100 — 0.450 X 0.314 19. 006 m3
X 0.872 — 0.450 X 0,314 X 0.827
FEHHEIE 2.155 X 1.440 3.103 m2
sy 23. 677 m3
(FRIRFERET)
FEpE RC—40 (t=10cm 2.155 X 1.440 3.103 m2
=/ RN 18N—8—25 2.155 X 1.440 X 0.050 0. 155 m3
oy Y—Fh 24N—8—25 B 2.155 X 1.440 X 0.200 = 0.621
o 0.100 X 0.100 X 7 X 1.905 X 4 = 0.239
R ( 2.155 X 1.440 — 0.196 X 2 —0.342 ) X 0.150 = 0.355
&E 0.621 + 0.239 + 0.355 1.215 m3




T fe Z4 PR B B = H = X (A e
T e BCTayv (2.155 + 1.440 ) X 0.050 X 2 0. 360 m2
SR EERR (2155 4+ 1,440 ) X 0.200 X 2 1. 438
PRI (2,155 + 1.440 ) X 0.150 X 2 1. 079
AF 1.438 + 1.079 2.517 m2
] R 2 e ] 0.200 X 7© X 1.905 X 4 4,788 m2
BRA% D10 B i X £k 5 3% 1 0 85. 952 kg
D13 Fi i X k5 3% 1 0 80. 750 kg
v Rl T — 6450 2. 000 1
6600 1. 000 1
#E i 0.155 m3
BeAn 1.215 m3
(P AR E )
N ENYAY! 1. 000 =
Pk o 7 fl 1 =




47—1 BB ¥ B £ 3
[ERT] (B
T fe 24 g o) " = % & L X1vA 2
(+T)
A +w 0.14 X 5.750 . 805 m3
1B A+ 0.13 X 1.000 + 0.11 X 6.800 . 878 m3
1B 4kt 0.03 X 5.750 173 m3
HeHHEIE 0.45 X 5.750 . 588 m2
B sy 0.805 — 0.173 . 632 m3
(FET)
BT VP¢$100 .895 m
VP¢ 30 . 800 m
90° =K (30) . 000 1i#
EMERE T #HMHo200—-90L . 000 1 PrekE
EVUG200 0.600 — 0.018 — 0.135 . 447 m




T 1 g2 P B & " =X #» B | B =

2y s ) — NEEL T 2.54 X 0.100 0. 254 m3
(o7 U — MZEEIRT)
a7 J—} 18N—8-40 2. 540 m2

t=1O0cn

P RC—40 t=10cm 2. 540 m2




[A{ET]

47—1 KB

2

A4
CELAH)

T i 4 i H s B = ® = BAfT L
(f=1)

oL ) — REEEL A 13.74 X 0.100 1.374 m3
(o7 U — MZEEIRT)

N Y 18N—8—40

a7 )—1 t=10cm 9.710 m2

Sk RC—40 t=10cm 9.710 m2




47— 2 Kp B = £ F
1\ =N 5]
T 4 i H s =1 = H = BAfT =
(+T)
e ) (4.740 X 3.670 + 3.330 X 2.260) 2 X 2.350 29. 283 m3
20.283 — 3.855 — (0.363 X 3 + 0.221) X 0.200
pEEg=S) AL — 1.900 — 0.220 — 4.400 X 0.100 — 0.450 X 0.314 22. 407 m3
X 0.876 — 0.450 X 0,248 X 0.676
FEHHEIE 2.500 X 1.760 4. 400 m2
sy 29. 283 m3
(FRIRFERET)
FEpE RC—40 (t=10cm 2.500 X 1.760 4. 400 m2
a7 )— Kk 18N—8—25 2.500 X 1.760 X 0.050 0. 220 m3
a7 Y—h 24N—8—25 R 2.500 X 1.760 X 0.200 = 0.880
E 0.100 X 0.100 X 7 X 1.800 X 4 = 0.226
IR ( 3.000 X 1.760 — 0.363 X 3 —0.221) X 0.200
&EF 0.880 + 0.226 + 0.794 1. 900 m3




T fe Z4 PR B B = H = X (A e
T e BCTayv (2.500 + 1.760) X 0.050 X 2 0. 426 m2
SR EER (2.500 4+ 1.760 ) X 0.200 X 2 1. 704
PRI (3.000 + 1.760 ) X 0.200 X 2 1. 904
AF 1.704 4+ 1.904 3. 608 m2
] R 2 e ] 0.200 X 7 X 1.800 X 4 4. 524 m2
BRA% D10 B i X £k 5 3% 1 0 18. 540 kg
D13 Fi i X k5 3% 1 0 259. 016 kg
< R—IV T — $600 3. 000 1
6450 1. 000 {i#
#E i 0. 220 m3
BeAn 1.900 m3
(P AR E )
N S atcutl 1. 000 =
Bk R o 7 Ht 1. 000 S




47— 2 K H = 4
[EET] (Q==R 1))
T i 4 i . s -1 = ® = BAfT L
(+T)
HE fi#E A+ 0.13 X 0.500 + 0.11 X 1.000 0.175 m3
(BFET)
EMET VP 100 0. 440 m
VP¢ 30 1. 000 m
90° =/)AR (30) 1. 000 &
EMERE T EHo200—-90WY 1.000 1 ek
MEE VUG 200 0.470 — 0.018 — 0.020 — 0.135 0. 297 m




[A{ET]

(B )

T & 4 i H s =1 = ® = BAfT L
(f=1)
1.050 X 0.650 X 0.950 + 1.050 X 0.550 X 0.820
ayv7 U—MEEEL A ( ) 0. 652 m3 it
— (0.800 X 0.400 X 0.800 + 0.800 X 0.400 X 0.670 )




[A{ET]

47—3 K n =

& S

(80D

T Gt 4 i H s =1 = H = BAfT =
(+T)
e + b (4.683 X 3.323 + 3.300 X 1.940) 2 X 2.305 25.313 m3
25.313 — 2.950 — (0.196 X 3 + 0.342) X 0.200
pEEg=S) AL — 1.611 — 0.202 — 4.032 X 0.100 — 0.450 X 0.314 19. 741 m3
X 0.872 — 0.450 X 0,238 X 0.900
FEHHEIE 2.800 X 1.440 4.032 m2
sy 25. 313 m3
(FRIRFERET)
FEpE RC—40 (t=10cm 2.800 X 1.440 4. 032 m2
=/ RN 18N—8—25 2.800 X 1.440 X 0.050 0. 202 m3
oy Y—Fh 24N—8—25 B 2.800 X 1.440 X 0.200 = 0.806
o 0.100 X 0.100 X 7 X 1.805 X 6 = 0.340
FRAR ( 2.800 X 1.440 — 0.196 X 3 —0.342 ) X 0.150 = 0. 465
&EF 0.806 + 0.340 + 0.465 1.611 m3




T fe Z4 PR B B = H = X (A e
T e BCTayv (2.800 + 1.440) X 0.050 X 2 0. 424 m2
SR EERR (2.800 4+ 1.440 ) X 0.200 X 2 1. 696
PRI (2.800 + 1.440 ) X 0.150 X 2 1. 272
AF 1.696 + 1.272 2.968 m2
] R 2 e ] 0.200 X 7 X 1.805 X 6 6. 805 m2
BRA% D10 B i X £k 5 3% 1 0 111. 869 kg
D13 Fi i X k5 3% 1 0 113. 082 kg
v Rl T — $450 3.000 1
6600 1. 000 1
#E i 0. 202 m3
BeAn 1.611 m3
(P AR E )
N ENYAY! 1. 000 =
Bk R o 7 Ht 1. 000 S




47— 3 Kp w

=

=2

LS

[ERT] (§==F/::p)
T T Z4 PR B B = H = B e
(+T)
HWE fi#E A+ 0.13 X 1.000 + 0.11 X 1.200 0. 262 m3
(FET)
EAnRR L VP¢ 100 0. 895 m
VP¢ 30 1. 200 m
90° =/ (30) 1. 000 &
HEMERE T #£HMHo200-90L 1.000 18 ZEAS
MEEVUG 200 0.430 — 0.018 — 0.135 0.277 m




[A{ET]

47— 3 Kp

=

=2

=]

(B )

T

H = H = BAfT =
(f=1)
ay7U—MEEEL A 1. 194 m3 e
1.050 X 0.650 X 1.050 + 1.050 X 0.550 X 0.670
ay 7 U— MEEEL A ( ) 0. 649 m3 ok
— (0.800 X 0.400 X 0.900 + 0.800 X 0.400 X 0.520)
a5 1. 843 m3
(o7 V) — 8
18N—8—40
-1 J— K
a7 ) —1 t=10cm 9.170 m2
RC—40 t=10cm 9.170 m2




